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Collect the data then find the mode, median, mean

1 .
and range. Odd number of pieces of data

5 Collect the data then find the mode, median, mean
ahd range. Even number of pieces of data

3 Find mean, median, mode and range of ages of
students in two schools. Compare the results

4 Find mean, median, mode and range of sets of data
including a frequency table

s Find mean, median, mode and range from a frequency
table

6 Find mean, median, mode and range from a grouped
frequency table

7 Averages review
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Animal  Bear Animal Lttd\jb‘tf‘ﬂ\ Animal - Tiger Animal  hevse Animal ool

Legs L‘» Legs é Legs L Legs i__l, Legs 2_
Mode L \eSS
Median 2, bk, by 06 Lt legs
Mean D4 G ututd =20 - L logs
- — S
S

Range S _ 5 - 4 legs




The data

Werite down the number of legs each animals has
2’1,2_(1*(L¢‘q(‘—t,ﬁhl—r‘é
Find
The mean The mode The median The range
‘ utv - Lt le ~2 = 4
36 - 36 logs Lt leg +1 L JJ A

10 @



The data

School A

students
teachers

School B

students
teachers

School A

School B

shows the age in years of a group of students and teachers within each school.
student total = 180 adult total = 187
7 7 7 8 8 8 9 910 10 10 10 11 11 11 11 11 1111 11
24 29 34 42 58 3
2%
student total = 250 adult total = 221
11 11 11 11 12 12 13 14 14 14 14 15 15 16 16 16 17 18 t3
26 29 31 38 44 53 -——é-
2%

1) Which school is a Primary School? A

2) Which school is a Secondary School? [

3) What is the age of the youngest student in School A? 7

4) What is the range of ages of students in School A? J1-7 = ¥
5) What is the range of ages of students in SchoolB? (& -1l = 7
6) What is the median age of the teachers in School A? 3%

7) What is the median age of the teachers in School B? 31+ 38 = %‘ = 343
8) Which school has the oldest teacher? z
9) What is the median age of the group from School A? ‘12Xl = 10°S

10) What is the median age of the group from School B? '_S:;*E"Y =Y °
11) What is the age of the youngest teacher in School B? 2.6 a+18 = 3 7
12) Calculate the mean age of the students 1§0+250 = 430

u3o=31= 16
Mean Mode Median Range
\§C_4 i
students | ~5°7 9:3 | \0 4
187
teachers -§:“:37”¢ X 34 34
whole group %Z"YJ | 10-S Sl
Mean Mode Median Range
students %rig“l 1 aa Iy 4 7]
teachers %: %8 X %S 27
A —
whole group 2 1l ad 1§ 5 L2

©




Mean, Median, Mode and Range

Find the mean, median, mode and range of these sets of numbers.
) 4 6 8 8 10 Memz J6rT=72 Med= 8 makesd fog=6

——

2 3 2 1 3 3 Mo = 1255 =24 ped= 3 Mode=3 RZ
3 7 6 7 2 3 1 9 Mews 3y7=S Med=L modet7 RZ8
4) 6 6 9 Mem =213D:=7 Med= 6 mode = 6 R= 2
5 5 6 5 4 Mem - 2ork=s Med=d wede=S K= 2
o 6 7 7 7 2 1 Mem=307475 MalzbS modes] k6
7)  This table shows how many TVs N“mbe'; of TVs | F r"3‘1‘:;‘3"CY 323
people have in their homes. Find > 4 o= ¥
the mean, median, mode and 3 2 ax2 =6
range from this table. 4 L ke
Mean = %: 2.1 Medn=2 Medez 2 Tl:;)‘;z {0 2\

8) Sally took 5 tests. She scored 45%, 23%, 877%, 62% and 74%.
a) Find the range of Sally's marks. 87 —23 = &t .

b) Find her median mark. &2 %

¢) Find her mean mark. 241 =3 58-2°

9)  Brian took 4 tests. He scored 63%, 58%, 71% and 42%.

a) Find the range of Brian's marks. 71— &2 = 29°% .

b)  Find his median mark. S&+4€> - ’LZZ‘ - 665 .
2

c) Find hismeanmark. 234>y = S¢°§ [
10) Use your answers to questions 8 and 9 to answer these questions.

a) Who did better in the tests Brian or Sally? Brian |, he had & hugler
Meon |

b) What do their ranges tell you about their test marks?

Br(a,\ XN = d CUAS\S\"O’V{’/
@ he b 4 Emalle (onge .



Averages from a frequency table

1) Pens | Frequency PxF frequency running total
0 4 Oxk = O u
1 6 Iixé = 6 hte = 10O
2 7 2 x 7+ % utlt 7> 17
3 5 Ty = \Y LAL4N+S > 2L
4 2 Lxl=% hd Ot +2 =2
5 1 gt = Y 25
2S L
Findthe mean 48 =2% = [-A2
Find the mode 2 pers
How many pieces of data 2% (number of pieces data + 1) +2= 25t/ - 13

Z
Find the median 13T~ prece of daka s a L

Findtherange S - o©=5

2) Goals | Frequency GxF frequency running total
0 7 O 7
1 5 S 1)
2 3 (4 Y
3 6 )& 2 1
4 2 & 23
5 1 S Y%
6 1 S 23
23 7
Findthe mean t"7>2% = )-€&
Find the mode O
How many pieces of data 23 (number of pieces data + 1) +2 = zfj_‘ = \3

2~
Find the median 2

Find the range 6-0 ° €

®



A survey of the length of leaves in a garden

frequency|frequency
length of leaf in cm |Frequency| midpoint X running
midpoint [ total
0<sL<5 L 2:5 |0 Y4
5<L<10 g T3 375 9
10<L<15 [ 12:S 75 IS
15<1<20 Z 1S 35 )1
20<L<25 S 22:s |[(12°F 22
22 270

in a garden was collected. The measurements are in cm

14.2 11.8 21.2 24.0 8.6 6.2 57 56
10.9 19.0 20.0 4.6 2.6 23.0 1.5 100

Complete the frequency section of the table
What is the modal group? |6 £ L<ts
Find an estimate of themean 270 <22 = [2:3 con

th
Which group contains the median? |1 W+ )2

2-
WM a4 17 bt (a the gre®

5.0 13.9
22.3 11.0
l o< L T

1.2
18.4




A set of numbers

2,7,8,7,3

A frequency table

Averages review

mean 275 =S 4

median 7

mode 7

range &—2= (@

pets frequency
0 3 &)
1 6 &
2 5 12
3 3 q
4 1 i
1§ 24
mean 24~i8 = }.{
median {+2 — (o
mode | Tz >

range 4= = &

Adding an extra piece of data

2,5,5,3,5,

A grouped frequency table

4

mean 24— 6 = 4
median 3144~ 3-5
mode §

range -2 = 3

height frequency | midpant A ¢ frea
0<h<10 4 S 20
10<h <20 7 (S 105
20<h<30 6 2s Aye
30<h<40 2 35 76
40<h<50 1 LS )
26 290
estimate of the mean 390—20= 195
modial group 10 £ < 20

group containing the median

(0 h< 2o

John has taken 4 tests, his mean score so far is 7 out of 10. In his 5th test he scored 2 out of 10. What is his mean score now?

Fnd He totel of Joha) 4 tejes. 4x1=28  Add fle I8 score 284230

Is the answer sensible?

Is it sensible to use the mean?

TVs Frequency
1 2
2 5
3 2

Mear = 3© = &
Ay

This survey shows the number of TVs per house.
Sally calcualted that the mean number of TVs per house is 6.

Is this sensible?

Ne tle moam must be bebwesn
| ond 3,“\1\( ‘Q,GJE cd el ﬁuwbefofcvs

These are the ages of a group of students and their teacher. 11, 12, 11, 12, 11, 12,12, 11, 12,45
Is the mean a good average to use (explain yor answer)? N0 , becaw e et e teacle
Which average would be better in this example?

tve doten



